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1. PRI E R AT, PRI K. (SR 17108, A1 72308, B2, C#H2730% )

(1) e (2,7) (2)  HAHAE (3,V3)
(3) MR (5,0) (4)  EZZPEEE (0,3)

(5)  fmps (6, r) (6) MEZHERE (—1,—v/3)
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2. MUEFRIE RS, EA PRI L. (S 10308, Afk1 2508, Bik27 208, C#34))

(1 s (1,F) (2)  EREERE (—V6,V2)
(3)  HIEBHE (7, 7) (4)  HEREER (0,-10)
(5) Pk (V12 Lr) (6)  MZIERE (V6. —3v2)
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* {BREEAE (r, 0)

* KBEAR (r, 0) CERER (z,y) OEFR

(1) e (2,7) (2)  HEAEAE (3,V3)
x FERE -+ 2cos§ = 2%:\@ ;e 32+\/§2:2\/§
y BERE - 2sinf =2 %:\/ﬁ XoT,
. cosf = 3= =3
B PERE (V2,4/2) 23 2
. _ \/g 1
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WRIZ, 0=7%
Y <2\/§,2)
(3)  MEERE (5,0) (4)  EREE(0,3)
x BERE -+ 5cos0=5-1=5 r=+02+32=3
y BERE -+ Bsin0=5-0=0 o T,
Q) — 0 _
32 PR (5, 0) cost) =3 =0
sinezg 1
WX, 0=7F
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sk (3, ’T)

(5)  fpei (6, Lr) (6) MEAEEAE (—1,—v/3)

r=/z2 + y2? T =rcosf y=rsinf (XL

CH25

r=0m20<60<21)

z B Goos Pm =64 =3V3 r= (12 (VB2 =2
y}z';é*gj; 651n—7r_6 ( %):_3 Lo,
-1 1
E 2R (3v/3, —3) cos = 5 =—3
sin@:‘T‘/g:fg
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g <2 37r>
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HEFR OA ZHRIEE W, /POA=0 £ §3%. O %, EIEVH FLOHSWBEP %2, OP D
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(1) e (1, g)

x PERE 1008%21'%:%
y FERE lsin® =1-¥3 = ¥3
5 e (;‘f)

ARV IE SRR, E A AR MBI B k. (S 177308, Afk 177 50%, B2 208, C#k377)

(2)  HAH (—v/6,v2)
r = \JCVB + (V2R = 2v3
Lo T,
) — =V6 _ _ 3
cosﬁ—ﬁ——T
. o \/§ 1
Slne—m—i

WwZIZ, 0= %71’

i (2\/5, 27\')

(3)  HPEEAR (7, ) (4)  ERPER (0,-10)
@ JEIR TcosTt=T+(-1)=-7 r= /02 + (~10)2 = 10
y JERE Tsint=7-0=0 ko,
0 _
W52 ek (—7,0) cosf =15 =0
sinf = _1—})0 =-1
W2, 0=32n
L A <10, gw)
(5) Pk (V12 L) (6) TEZEEE (v6, -3v2)
v R V12cos fr = 2v3 () = -3 = (V02 + (-3v2)2 = 216
y PEFRE \/ﬁsin%w:%/g' (—%) =3 Lo T,
i cosf =6 =1
[E 3SR (—3, —V/3) 26~ 2
sinf = _23? = —73
WwZIZ, 0= %Tl’
s <2\/6, gﬁ)
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